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Note :– This paper is of Hundred (100) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lkS (100) vadksa dk gS] tks nks (02) [k.Mksa ^d*
rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r

funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ
vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh
tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×26=52

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Twenty Six (26) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, NCchl (26) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What do you understand by Human Development Index

(HDI)  ? How does it measure the quality aspect of

life ?

ekuo fodkl lwpdkad ls vki D;k le>rs gSa \ ;g fdl izdkj

thou ds xq.kkRed igyw dks ekirk gS \

2. Discuss the classical model of economic development

and point out its main weaknesses.

vk£Fkd fodkl izfrf"Br fl¼kUr dh foospuk dhft, rFkk bldh

eq[; dfe;ksa dks bafxr dhft,A
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3. Examine the controversy between balanced vs

unbalanced growth. Which strategy do you consider to

be superior ? Give reasons.

lUrqfyr cuke vlUrqfyr fodkl lEcU/kh fookn dh tk¡p

dhft, vki fdl uhfr dks Js"B ekurs gSa \ ldkj.k crkb,A

4. Explain Rosenstein ‘s big push theory.

jkstsUlVhu dk cM+s /kDds ds fl¼kUr dh O;k[;k dhft,A

5. Critically explain Arthur Lewis's theory of unlimited

supply of labour.

vkFkZj ysfol dk vlhfer Je iw£r fl¼kUr dh vkykspukRed

O;k[;k dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×12=48

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Twelve (12) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, ckjg (12) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. Explain the difference between economic development

and economic growth.

vk£Fkd fodkl vkSj vk£Fkd fodkl esa varj Li"V dhft,A

2. What are the main characteristics of an underdeveloped

economy ?

vYi fodflr vFkZO;oLFkk dh eq[; fo'ks"krk,¡ D;k gS \

3. Discuss the factors affecting the economic growth of a

country.

fdlh ns'k dh vk£Fkd o`f¼ dks izHkkfor djus okys rRoksa dh

foospuk dhft,A

4. Explain the mathematical form of Marx’s development

model.

ekDlZ ds fodkl izk:i dk xf.krh; :i dh O;k[;k dhft,A

5. Explain Rostow stages of economic growth in detail.

jksLVkso dh vk£Fkd lao`f¼ dh voLFkkvksa dh O;k[;k dhft,A

6. What do you meant by “Technological Dualism” ? What

are the shortcomings of Technological Dualism ?

^rduhdh }Srokn* ls vki D;k le>rs gSa \ rduhd }Srokn dh

dfe;k¡ D;k gSa \
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7. Explain the Underdevelopment Model of Gunnar

Myrdal.

xqékkj feMZy ds vYifodflr ekWMy dh O;k[;k dhft,A

8. Describe the ‘role of the public sector’ in making Harvey

Leibstein's minimum effort strategy effective.

gkosZ yhfcLVhu ds U;wure iz;kl j.kuhfr dks izHkkoiw.kZ cukus esa

^lkoZtfud {ks= dh Hkwfedk* dk o.kzu dhft,A

**************


